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9T — 1/ PART — |
I fer g e / CHILD DEVELOPMENT AND PEDAGOGY
fraer : frfafad g9t & SR 39 & [T @94 SRm fawed gim

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

frefafeg & & @d9-a@r M
HAERERT § dEr 78 o 7

1) G H I

2) H=~Iar &1 |

3) YiFM @ Ew

4) WA & EH

Frfafad & & a9-a1 §fe &1 &
fepaTees Tierer & ' 7

1) g P A [SOME T

2) TWERISY & YE-TeiT TOE

3) AP HH @S T

4) WHS-fa gl

Freifafad & | dF-a1 aR e 56K
H U T T ?

1) s g9

2) fasveme® usH

3) TgaHTH 9T

4) R wWE g

Rt & o foe Rl & oTgaR,
femeTRTa B :

1) Afie gurdar # stawen
2) s Afcrepar @t STae
3) R Afceedr @t oTaR
4) WA Afaear H oTaw

[ Level-2/1202]

Which of the following laws is not
related to heredity ?

1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?

1) Koh's Block Design Test

2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions
2) Analytical questions
3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality

4) Stage of autonomous morality

P.T.O.



[4/A]

5.

frfafed & @ d9-a fdvar RS
R gfaqried GsiHicAs faehrd s
gzﬂﬁ HishaTeres ofae § defid 787
1) SeRAUIRAT (TAeE &l &)

2) THHSEl

3) Sigar

4) GO

gt Rrarell & g # -

HI TE 7& B 7

1) ®I3 G & AR e TH-FHH
T Bl

2) i A faRanett & @y
T foae g

3) s framd ot gHuEr H
Fiaal P T B &

4) FRRF RITCIC daw SRR
1 & qReTH B ¥

W Th S=d ZN 4@l S a 9o
dar R HfeT & qur IEH THS i
Seq A o B, @ Hew @l
HI-d fafy Suget arft ?

1) fom faf

2) o faf

3) ™ fafy

4) Ut fafy

afrm g s==f & i dm-
farerer g1 wmSE 78 Brm ?

1) A § Sfeq

2) I ¥ o

3) TOH § ST

4) TG 9 ST

[ Level-2 /1202 ]

5. Which of the

following
characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in

context of individual differences ?

1) Two persons are not exactly
same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method

4) Incidental method

Which teaching maxim is not
beneficial for the learning
disabled children ?

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown



9. Frfafad d @ a-a1 e &1 @&
Rrsia 787 8 7
1) feprg SRR TE qaiERer
SR Bl
2) s Yot Q@i e Bl
3) o W% 9 H STTERST &I

2|
4) fopE@ MM ® fafRiee @ &R
e B
10. 59 wHoETNE B = *
eI faehr & |rHIiorh T |iehicen
FH I FH TEEq Bl § 7
1) dEeEn 2) e
3) TN 4) &

11. fF=fafad & & sH-df ReeiRaen

TS fahE Bl T aH st

7 87

) " & 'y s
LS

2) 41 |HITE q9ed

3) TEEH & @i

4) -

12. Fgaa & siow fawE e @
FH-A RN GRERE  Sfowar B
WX 4§ et 78 § ?

(a) e Tg A=y

(b) =B Srdadia® Hag

(c) HHIIH Fqe ST @

(d) T oTEY AR AR

SRR

7&7 F< B =TI BT

?- : - -

1) W ®d) 2) (b) W (0
3) @TW @ 4 ()W (@)

[ Level-2/1202]

9.

10.

11.

12.

[5/A]

Which of the following is not a

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development
path.

4) Development proceeds from
general to specific.

follows linear

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky 2) Piaget
3) Bruner 4) Hull

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity
4) Hero-worship

Which stages of Kohlberg's moral
development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) @& ®m) 2) (b) & (0

3 @& @ 4 (0 & ()
P.T.O.



[6/A]

13.

14.

15.

16.

YN U fiaT Sl AT gishanatt
& N HIEAT Hed © -

1) SIHMHS HEAT
2) THE diEH

3) GIAMTH® TG
4) WEES HEA

gmEhe A & gl § Be-dl
freror-erftr iy fenlRiat & fo
Taifys TR ® ?

1) &3 999

2) WY

3) AN

4) HAHE Iaad

Yodita & orded Rrsid § @i
Ud FHEE IEUR b A IAgEET Bl
BT BRE gD @9 § T
T w7

1) FETh & TEABOT B IIYH
Y

2) IEUEH H TGN
3) fERa ardmER
4) U B FHI

frfafag & @ @-a1 de R
gﬁ?ﬂq Ukl gHIGT 78 e
1) frers @1 e &

2) [ @& AMie @

3) farerh o fowgasg =

4) faremes &1 G BN

[ Level-2 /1202 ]

13.

14.

15.

16.

mental
and

Learning through
processes like attention
reflection is called :

1) Imitative learning
2) Motor learning
3) Cognitive learning

4) Aiffective learning

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip
2) Lecture
3) Experiment

4) Brain storming

In Pavlov's conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimuli ?

1) Appropriate timing of stimuli
presentation

2) Repetition of stimuli

3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher
3) Content knowledge of teacher

4) Communication skills of teacher



11.

18.

19.

20.

frefefe & @ @9-91 #°®
WO HH & TG SeE B
[T T gIad 78 & ?

1) TN
2) TR & A AT & ARG

T
3) gHeY .

4) - GREt

diFe® & oftm Rreid & gER
fpe drem & & et ® 7

1) qRar & e

2) M H EH

3) UHE @ fIH
4) g gfdishar 1 M

Frefafad & @ SF-a1 M SIRERen
% il @ S gfuesl & deg |
w7 T 7

EReTe i gfdare®
1) o Yg i Tefhe

2) STELIHA GPHA  HEl

3) JUie i CEER]

4) Iuqre SERET EEIKES
ESFE)

s e & ad §

1) HMIe &9 9 dfbd I & O
farem

2) T T=af & fom fawm

3) W Ud RAM s & €
farem

4) 99 F=AI 3 U R

[ Level-2/1202]

11.

18.

19.

20.

[7/A]

Which of the following factor does
not influence the development of
child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response

Which of the following pair is not
correct regarding motivational
theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow
theory

Woodworth

Mc'Clelland

3) Drive theory

4) Achievement
Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

P.T.O.

normal and



[8/A]

21.

22.

23.

24.

frfafed & @ @M-a1 g9dl AREM
H U osiq 7@ & ?

1) SARERem

2) AR Tgd

3) iRy SuRefa

4) gRge

M & oER, T R a) et
F fhE JoEOH WX B S 9% o
S T S BT Amey ?

1) U S
2) THE HIEN A
3) FEw M
4) fa¥E ARy

i & B Reid 4 g @
e 9 vegell W &« far T ® ?
(a) TTHI

(b) AT

(c) GiEhaTHS

(d) HEwieEH

7&] T H AT BT :

&< - .

1) (@), () W (c)

2) (b), (c) W (d)

3) (a), (b) T (d)

4) (a), (c) T (d)

gt iy 3 cIftFTTRat & fow BT
Jfereh EETET SUH T&T © ¢

1) @R

2) SUARIAS e

3) I FH

4) e fREor iy

[ Level-2 /1202 ]

21.

22.

23.

24.

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?

(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (c)

2) (b), (c) & (9)

3) (a), (D) & (d)

4) (@,() & (d

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method



25.

26.

21.

fpelreeer § wipd IS R
Yot & o g8 %2 & 99 FiT
() W HA

(b) T

(c) ITE-Pigadr

(d) Sfgarer

1) (a) W (b)

2) (b) T (d)

3) (a), (b) W (c)

4) (a), (c) T (d)

qaq U AUE G H Fe oY
% .

() TER AT Q0

(b) SUgH @ d 9w e
RIS

(c) Arp qur T-AMere A 9 w0
ERER TG

(d) Baq Afeep Iy T

787 F< B TI BT

1) (b) T (d)

2) (b) T (c)

3) (a), (b) T (c)

4) (b), (c) T (@)

T OIR HE % fo foefEt @ o e
qEERT & G ik give
YAl B, T€ PHEdH ©

1) fafrse forem

2) s farem

3) Wehichel f3rem
4) guEsh fwEm

[ Level-2/1202]

25.

26.

21.

[9/A]

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy

(c) Ego-centrism
(d) Stereotyping
Codes :

1) (@ & (b)

2) (®) & (@)

3) (@, ) & (c)

4) (@,() & (d

The true meaning of continuous
and comprehensive evaluation is:

(a) Taking frequent tests

(b) Taking continuous
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the correct code :
Code :

1) (o) & (d)

2) (b) &(c)

3) (a), (b) & (c)

4) (b), (c) &(d)

tests at

The education which promotes
leaming by doing' and ensures the
students interaction with their
environment to learn, that is known as :

1) Special education

2) Progressive education
3) Integrated education
4) Inclusive education

P.T.O.



[10/A]

28.

29.

30.

gfteaiyg  femtil & R @m-H
T e 9l QW 7@
Brl ?

1) S |9

2) Sl s

3) fhew R

4) IW T HARE

AR B g 0 A i
PRbI & F&T R BN TIT BT :

(a) AR

(b) T¥EHAT

(c) e

(d) EYU™

%c - ‘

1) ()W (d)

2) (a), (b) T (d)

3) (a) T (c)

4) (a), (b), (c) T (d)

TH A Hiear o g=d @ g Joel
AR 9 ¥ X H § g9en S
I §

1) feeaieRmn

2) fewiforan

3) feanithar

4) e

28.

29,

30.

Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation

(b) Aptitude

(c¢) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), () & (d)

3) (@&(c)

4) (@), D), (©) & ()

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2 /1202 ]



HRT— 11/ PART -1l

A ("= wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : fFefafad gl & SR 39 & e @98 S faske g

[11/A]

31

32.

33.

34.

. AW = & d@¥ § FE-@ g™
oGIT B 7
1) 998 - fomig
2) forg - 4y
3) THYY - ArHH

o o

4) Tt - e

THE H HE-G1 THEIE ST
T & e ghfa 78 8 7

1) TSRO - Y TYeT

2) [T - AR TYEW
3) @ifehd - HOT TYEY

4) RAMEIRT - FIEH TGET

=1 4 @ aF-a1 & 9= o g™
q gAfera 787 © 7

1) 9fid - o HiY

2) TAgs - foe €Y

3) WeRW - gha WX §f

4) TGS - o1 @) 9y

U, qA T IR AU B HA:
SR WM R

1) drY, &S, S

2) 3, %3, a1

3) #US, &, D

4) 33, FU3, Y

[ Level-2/1202 ]

35.

36.

31.

38.

forq faehed &1 AT Qdehlicih fohaT
e F& 8 7

1) TH EeTehY =l T

2) T® TA HTN MA TEl A B

3) Hidl EFT S STEgY S

4) AAU® IO B BE|]  Hl

e

A9 T GO T S QI B
el e ®

1) Ted @ 9% § A S

2) STFYSM Ga<Th Bl B

3) AW & Ty R B gen fHa
4) I R FH FA

Il % 0 T a= & GEg A
HIF-91 JH oFGTT © 7

1) 8 a8 & FeT & - e
2) @ felt 3 9 g1 & - o

3) B B H F T/ -

4) fasrg o &t dig <81 - e

g foehea & weal § A YRS
T & ?

1) Geio, el
2) qgaE, grad
3) g, Wty
4) TEHIT, ATl
P.T.O.



[12/A]

39.

40.

41.

42.

g e H BREO-HERAT
- & FAT: 7e Ad B 7

1) E, g4

2) %I, Y

3) fofi, (@

4) Fu, e

et 4 @ @-ar 9= ‘aqy @
e 78§ ?
2) P

1) 99
3) REA 4) FER

gﬁw%ﬁﬁaﬁaﬁﬂ—waﬁwm

?

1) FE T 9= 9 95 @ A
wEifRd et &, 3§ fafver #eq

2) ‘9, W, T I,
MR EICEAREE L IR T L ]

3) ‘F ¥ HE BH Ted & -
TEaE® AT H ST B
4) Hedars GO H R 9% @l

51 0 G 7 | o S

gw%aﬁaﬁﬁ?—waﬁwwﬁaﬁ

?

1) fqaras el & YAN €ed
(sl & otfaRed) whae #
2T B

2) 3, WER, & IH Aara®
T B AT 2

3) GoEE®  q A
gﬁamw%éﬁﬁatrﬁaﬁ
|

4) fEmr, witw Sw Afw
ATadTeh Hsll & IAEL 2

43.

44.

45.

9 & g d dHe-a g O
7 &7
1) ¥ T ST BT - e
T
2) FAH FT &G W 2 -
CIEFCREI e )
3) = 7 A% Rieh = o -
PESCICCRE Rt
4) I8 @ F GIR W © -
BECICEARSChIk

frr # @ a9 9= ‘oaE®
dfsd g’ @ g 78 & ?

1) g
2) ®HRG
3) drged

4) gA

ST @ 3 @ fRE e @
TE-JH GTGIT § 7

1) X - FRestn, Ry
2) I - IR, e
3) U - e, qd

4 ¥ - T gd

[ Level-2 /1202 ]



i / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[13/A]

46.

41.

48.

49.

Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?

2) Has the work been done ?

3) Had the work been done ?

4) Will the work be done ?

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

Fill in the blank with the most
appropriate modal auxiliary :

Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2/1202 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

© @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy
P.T.O.



[14/A]

53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom:

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoonas

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2 /1202 ]
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Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

61.

62.

63.

64.

A, 7@ R | uftem # 8 {5 e
g T @ PoHK 2 fPl Tem © g
¥ gEHK 5 fRl Team 5, O a8
oA fg & dedl § o9 fpw fRem
T feerg B 7

1) RO-UiEE 2) IR-uiREd

3) T-w 4) RO-gd

qg fE He 9 § 'PROJECT' &l
'CEOPRT' 1 'PLANE' & 'ELNP'
ferEr ST B, 9 'ORGANISED' &1 341
%S W H {68 S foren S ?
1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

qeh B TH U H, A T @WH |
74 @7 B T @® 9 124 ©WN W
g, a% ST WMl ¥ WER 9Radd
foor S B, @ A & 9@ X% Q@
2291 WM & S B, O Ul § g
qSH B G § ¢
1) 27

3) 33

% IRER ¥, A, X & [ 8, B, Y @l
U e, qM X g Z B SeT Y &, ar
frfofag wemt & @ d9-@1 HH
fifteg &0 @ 98 7 B ?

1) B,A & Tl ©

2) B&H @ G2

3) X,AB

4) Y,Z P 98T 8

2) 31
4) 34

[ Level-2/1202 ]

61.

62.

63.

64.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West 2) North-West

3) North-East 4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?
1) 27
3) 33

2) 31
4) 34

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A

2) B has a daughter

3) XisthesonofA

4) Y isthe sister of Z

P.T.O.



[16/A]

65.

66.

61.

68.

69.

R o ¥ 7T Ge

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

afc A 3T iRem F 8 Rt SR ad

et TWH bt 6 FpHl aaiar & ae
g SI-Ud RS A gedd 10 Rl

Eﬁﬁﬂ g, O A URPWE g & fa

XU 27

1) o f& 2) 8

3) 10 feat 4) 12 fFH

AR 10 R Reer & @ ( :) af

q & 7 8 &9 @ B, o Sl w
% A9 P H 12 B A f w9 &
foe fopem afoat @t eTasgwRar &N 7

o1 | Do

1) 6 2) 8
3) 10 4) 12

W T B @ R T B R
e oem 32 & & oIk Bt &l
ia: B 6 ot &, Ak Bw @ ot
576 T ¥ B, AN IEH SR ¥

1) 4 a9 2) 5 I

3) 6 gl 4) 8 I

e uh AT agqs 9 R @

e 27 B, @ gHh geel @
e B

1) 6 2) 9

3) 10 4) 12
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65.

66.

61.

68.

69.

Find the wrong number in the
given series :

0,3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm 2) 8km
3) 10km 4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8
3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
876 cc, then its height is :

1) 4 cm 2) 5 cm
3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9
3) 10 4 12



10.

11.

12,

13.

14,

Qg erge A T B H, dfer @
W%ﬂlaﬂ\ﬂglﬂd SPH: 5 : 2 qUT 3 : 4
2, sﬁﬁraﬂ@aﬁﬁ@}\.aﬁnﬁv‘m
wd B & 21 fRm P o % e
gy S8 Sl @, 39 5 e Oy A
qT T ST B STIAT H & 7

1) 1:2
3) 2:3

2) 2:1
4) 1:1

I 7 cosec 8 — 3 cot & = 7 &l O
goH =gl § &, @ 7 cot 6 - 3
cosec § H TN 8 :
1) 3

3) 3/7

2) 5
4) 5/1

e Th g H, TH GHAg B9 ABC
fafifed fam St &, Brgst & it &
dfl ® wyl Y@el 9 s amn
Pyt =i :

1) fquHetg Brygs

2) guiEag By

Th GhMER, T a&) 15% o W
ST 3, SR S94 39 18 BUd AR
g o1 S, O A 18% & SN 39
IE] & H T (30 H) ©
1) 600 2) 540
3) 350 4) 380

Fr=tfefted 2ol & J@ T @ ¢

DBC, KIJ, QOP, _ ? , ZXY
1) VUW 2) USV
3) UTV 4) VTU
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10.

11.

12,

13.

14.

[17/A]

In two alloys A and B, the ratio of
copper and zincis 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 6 — 3 cot 6 = 7 where 6 is
in first quadrant, then the value of
7 cot 6 — 3 cosec O is equal to :

) 3 2) 5

3) 3/1 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540
3) 350 4) 380

The missing term of the following
seriesis:

DBC, KIJ, QOP, __? ,ZXY
1) VUW 2) USV
3) UTV 4) VTU
P.T.O.



[18/A]

15.

16.

11.

18.

19.

80.

a eI SISl H ST} 3 8, IR
396 N H AN 369 B, A
et & A §

1) 25 2) 27
3) 31 4) 33

frae & Uh A H o faeT,
AR B 12 A JAT AEA H 5
T 8, @ A SEH AuEd 36 @, At
T B

1) 2706 2) 2736

3) 2796 4) 2766

gk A ‘¥R @, B ART @', C
‘M &’ T D PN & TERW
Hd S, W20C 12B8A2D 6
X § ¢

1) 16 2) 18

3) 32

1) 4 fHi/A9e 2) 4.2 [FHI /AT
3) 4.4 [HHI/ATS 4) 4.5 [FHI /AT

Rt T feedl § & W @& 5
I
1) 4l
3) R

2) 9o
4) sigd

¢ 16-4=2,9-3=2,81-3=4
B, 64—4 FH O B
1) 3 2) 2
3) 4 4) 6
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15.

16.

11.

18.

19.

80.

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbers is :
1) 25
3) 31

2) 217
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736

3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A 2D 6 is
equalto:

1) 16 2) 18
3) 32 4) 36

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is:

1) 4 km/hr
3) 4.4 km/hr

2) 4.2km/hr
4) 4.5km/hr

Find the odd word from the given
alternatives :

1) Violin
3) Guitar

2) Harp
4) Flute

If16-4=2,9-3=2,81-3=4,
then the value 0f 64 — 4 is :

) 3 2) 2

3) 4 4) 6



8l1.

82.

83.

84.

85.

86.

1857 & fagle & aM, Ffoeag
9 fpeq Teds # fefeyr feemi W
STHHOT fopar ?

1) THIA A

2) IHM STl
3) HieX e
4) TgE W

BTN A TRISA B TNy R

1) SREA gEdr |

2) Rgma gu |
3) feu™ &I S’ Hear 4
4) g @ o=IRe & |

%aﬁuwﬁﬁﬁw%aaﬁrm
?

1) i 2) R

3) WeETG 4) ST

g & ot dedia € ?

1) 95
3) 143

2) 49
4) 14

gaen & e R H, @@ e
ST fpar T ?
1) dHaa 2) UEId

3) HE 4) JLAR

godlotdodio & A, S HIK
g sfaen & T = F

1) Sfo To dRo fheas
2) 4 JIwR g S
3) &I dlo To =shail
4) & HEEN UH
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8l.

82.

83.

84.

85.

86.

[19/A]

During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range

2) Hindukush range

3) Outer range of Himalayas

4) Inner range of Himalayas

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind 2) Pinjore

3) Mahendragarh 4) Ambala

How many Tehsils are there in
Haryana ?

1) 95 2) 49

3) 143 4) 14

In which district of Haryana, the
Khelo India Women's Archery
ranking competition was organised ?
1) Sonipat 2) Panipat

3) Karnal 4) Yamunanagar
The UPSC Chairman, who

subsequently became the Governor
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney

3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

P.T.O.



[20/A]

81.

88.

89.

90.

IqEad B B Bl SAEE IR
TEel § Siowid ® ¥ &
YHR S I off &l Ao 2

1) T wEd 3 AR
2) A fovEa

3) AW Ul 7O fRrEd
4) TN &N

BRI § A9 gReege ol he
IO HEH el R & 7

1) 9HI9a
3) g

AT & g gadT S HiF o 7

2) ST
4) FHEA

1) Sl S e
2) gfo TER e

3) i fovg agw

4) ZFdl FHAEY HOSRI

g & Frefofed & & § @9
RO A & TH d Ahvg & 7

1) &1 T ™
2) A1 NG Y
3) & AN Y
4) SE1 RO T

81.

88.

89.

90.

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition crops is :

1) Meri Fasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat
4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat
3) Panchkula

2) Ambala
4) Kurukshetra

Who is the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2 /1202 ]
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[21/A]

Direction : Answer the following questions by selecting the most appropriate option.

91. The number of vowel and
consonant sounds in English is
indicated respectively :

1) 20,26
2) 22,22
3) 20,24
4) 6,26

92. Find the word which is spelt
correctly from the given words :

1) Amatuer
2) Ameteur
3) Amateur
4) Amature

93. The Bilingual method of English
language Teaching was first
developed by :

1) C.]J.Dodson
2) A.C.Wards
3) F.G.French
4) Sydney Walce

94. Identify the literary term used in
the following sentence :
"Let not Ambition mock their
useful toil".

1) Irony

2) Metonymy

3) Personification
4) Litotes

[ Level-2/1202 ]

Direction : Read the following poem and
answer the questions that follow

(Question Nos. 95-99) :

Now, joy is born of parents poor,

And pleasure of our richer kind;

Though pleasure's free, she cannot sing
As sweet a song as joy confined.

Pleasure's a Moth, that sleeps by day
And dances by false glare at night
But Joy's a Butterfly, that loves

To spread it wings in Nature's light.

Joy's Like a Bee that gently sucks

Away on blossoms its sweet hour;

But pleasure's like a greedy wasp,

That plums and cherries would devour.

Joy's like a Lark that lives alone,

Whose ties are very strong, though few;
But Pleasure like a Cuckoo roams,
Makes much acquaintance, no friends true.

Joy from her heart doth sing at home,
With little care if others hear;

But pleasure then is cold and dumb,
And sings and laughs with strangers near.

95. "Joy is like a Lark that lives alone",
which figure of speech is employed
in the line quoted above ?

1) Alliteration
2) Onomatopoeia
3) Oxymoron
4) Refrain
P.T.O.



[22/A]

96.

91.

98.

What is the central idea of the

poem ?

1) It focuses on the beauty of

nature.

2) It lays stress on joy than

pleasure.

3) It establishes superiority of

pleasure over joy.

4) Considers both joy and

pleasure as fleeting emotions.

"Pleasure is like a greedy wasp,
That plums and cherries would

devour."

In the above lines the word
'devour' means :

1) To enjoy greatly

2) To dance beautifully

3) To sing melodiously

4) To eat something eagerly

In the poem Toy' is compared with
a bird that sings :

1) for one's own self
2) for strangers
3) for Cuckoo

4) for poor parents

[ Level-2 /1202 ]

99.

100.

101.

"Pleasure's a Moth that sleep by

n

day

Choose the literary device used in

the line quoted above :
1) Metaphor

2) Assonance

3) Hyperbole

4) Anti-thesis

"Never, never and never again
shall it be that this beautiful land

will again experience the

oppression of one by another."

The above line is a statement
by ool .

1) Jawaharlal Nehru
2) Nelson Mandela
3) Mahatma Gandhi

4) Abdul Kalam Azad

Study of meaning in a language is

known as ........... .
1) Syntax

2) Semantics

3) Morphology

4) Linguistics



102.

103.

104.

Identify the phonetic symbol of
the underlined sound :

Book

1 »

2) v

3) o:

4) ¢

Which of the following idiom

means "A cause of dispute" ?
1) A big fish in the little pond
2) A Dbone of contention

3) A bloody fool

4) A feast for the eye

What did Major Ahluwalia and

Phu Dorjee leave on the

Mt. Everest respectively ?

1) A picture of Guru Nanak, relic
of Lord Buddha

2) A picture of Goddess Durga,
A Cross

3) A picture of Guru Nanak, A
Cross

4) A Cross, a picture of Goddess
Durga

[ Level-2/1202 ]

105.

106.

101.

[23/A]

Identify the appropriate example
of Anti-thesis from the sentences

given below :

1) He was gathered to his fore-

fathers.

2) Icame, Isaw, I conquered.

3) O what a fall was there, my

countrymen!

4) To err is human, to forgive

divine.

What is the part of the sentence
which denotes the person or thing

about which something is said ?
1) Predicate

2) Subject

3) Phrase

4) Clause

The poem 'A Legend of the

Northland' by Phoeby Caryisa:
1) Sonnet

2) Ballad

3) Lyric

4) Elegy

P.T.O.



[24/A]

108.

109.

110.

111.

People who have poor diets are
likely to catch colds.

The underlined part in the above
sentence is :

1) Adverb Clause
2) Noun Clause

3) Adjective Clause
4) Adverb Phrase

Which of the following is an
abstract noun ?

1) Crowd

2) Gang

3) Student

4) Experience

Whose fable is the poem 'The Ant
and the Cricket' adapted from ?

1) Homer

2) Rudyard Kipling
3) Vishnu Sharma
4) Aesop

Which of the following words
correctly define 'the ability to
deal with any kind of hardship
and recover from its effects' ?

1) Resilience
2) Retrogression
3) Recurrence

4) Repugnance

[ Level-2 /1202 ]

112.

113.

114.

"Two Roads diverged in a wood,
and I — I took the one less
traveled by, And that has made all
the difference."

The above lines are extracted

from which of the following

poem ?

1) Songs of the Open Road
2) The Road Not Taken

3) The Rolling English Road
4) Roads

Identify the correct sequence of
language skills :

1) Listening, Reading, Writing,

Speaking

2) Listening, Speaking, Reading,
Writing

3) Speaking, Writing, Listening,
Reading

4) Speaking, Listening, Reading,
Writing

In the poem 'Macavity : The

Mystery cat', the ginger cat

Macavity is an embodiment of :
1) Professor Conan Doyle

2) Professor Moriarty

3) Professor Alexei

4) Professor Louis Brus



115.

116.

1117.

Which of the following sentence is
framed according to the pattern
given below ?

Sub + V + noun/pronoun + adjective

1) Israel attacked Gaza with

missilery.
2) She gave me a good shawl.
3) We saw him by the sea-side.

4) He painted the ceiling white.

A lyric poem of moderate length,
with a serious subject, an elevated
style and an elaborate stanza

pattern, is called :
1) Ballad

2) Ode

3) Haiku

4) Limerick

Choose the word that means

"lying on the ground face
downwards" :
1) Palanquin
2) Prostrate

3) Procastinate

4) Prevaricate

[ Level-2/1202 ]

118.

119.

120.

121.

[25/A]

Identify the part of speech of the
underlined word in the sentence
given below :

He is asleep.
1) Object

2) Verb

3) Adverb
4) Adjective

What is a scientist who studies the
rings that appear each year in the
tree trunk is called ?

1) Archaeologist

2) Dendrochronologist
3) Anthropologist

4) Ethologist

Michael West's 'New Method' of
teaching English lays stress on :

1) Listening
2) Speaking
3) Reading
4) Writing

Select the option that expresses
the given sentence in passive
voice :

They made me laugh.

1) Iwas made to laugh.

2) Iam made to laugh.

3) Iwas made to be laughed.

4) Iam made to be laughed.

P.T.O.



[26/A]

Direction : Read the following passage
and answer the questions that follow
(Question Nos. 122-126) :

It was morning, and the new sun
sparkled gold across the ripples of a
gentle sea.

A mile from shore a fishing boat
chummed the water, and the word for
Breakfast Flock flashed through the air,
till a crowd of a thousand seagulls came
to dodge and fight for bits of food. It was
another busy day beginning.

But way off alone, out by himself
beyond boat and shore, Jonathan
Livingston seagull was practising. A
hundred feet in the sky he lowered his
webbed feet, lifted his beak, and
strained to hold a painful hard twisting
curve through his wings. The curve
meant that he would fly slowly, and now
he slowed until the wind was a whisper
in his face, until the ocean stood still
beneath him. He narrowed his eyes in
fierce concentration, held his breath,
forced one ........ single ....... more .......

feathers ruffled, he stalled and fell.

Seagulls, as you know, never falter,
never stall. To stall in the air is for them

disgrace and it is dishonour.

But Jonathan Livingston Seagull,
unashamed, stretching his wings again in
that trembling hard curve - slowing,
slowing, and stalling once more — was no

ordinary bird.

[ Level-2 /1202 ]

Most gulls don't bother to learn more
than the simplest facts of flight — how to
get from shore to food and back again.
For most gulls, it is not flying that
matters, but eating. For this gull, though,
it was not eating that mattered, but flight.
More than anything else, Jonathan

Livingston seagull loved to fly.

This kind of thinking, he found, is not
the way to make one's self popular with
other birds. Even his parents were
dismayed as Jonathan spent whole day
alone, making hundreds of low-level

glides, experimenting.

122. For Jonathan Livingston flying

was :
1) life itself

2) a matter of shame and

disgrace
3) means of finding food

4) way to make one-self popular

123. Choose appropriate antonym for

'gentle' from the passage :
1) Falter

2) TFierce

3) Twisting

4) Concentration



124.

125.

126.

Choose the word that means

"avoid by sudden quick
movement" :

1) Ruffled

2) Webbed

3) Dodge

4) Chummed

The line "But Jonathan Livingston
Seagull unashamed, stretching his
shows about

wings again',

Jonathan's :

1) Shamelessness
2) Menace

3) Exhaustion

4) Perseverance

"Even his parents were dismayed
as Jonathan spent whole day alone
making hundreds of low-level

glides, experimenting."

The word 'dismayed' in the line
means :

1) feltproud

2) felt giddy

3) felt disappointed

4) felt detached

[ Level-2/1202 ]

121.

128.

129.

[27/A]

Choose the correct form of verb
for the blank space in the given

sentence :

Here ........... the Indigo ! (come)
1) come

2) comes

3) hascome

4) iscome

Fill in the blanks with correct

preposition given below :

The house is ......... fire ! We had
better get ..........!

1) on,into
2) on,out
3) in,on

4) above, out

What is Intonation in Phonetics ?

1) The alteration of voice, pitch

or tone in speech.

2) Use of language with fewer

€errors.

3) Form of a spoken language

peculiar to a region.

4) A term expressing an action

or a state of being.

P.T.O.
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130. Fill in the blank with the most

131.

132.

suitable phrasal verb :

The meeting was ........... due to

pandemic.

1) called off

2) called into
3) called back
4) called down

Fill in the blank with correct

article :

Sita Devi has become ....... M.L.A.
1) an

2) a

3) the

4) =zero article

"Death in an open field is better

than life in a small hut".

Who said the above statement to

whom ?

1) Abu Kaka to Chandni
2) Chandni to herself

3) Old Goat to Abu Kaka

4) Wolf to Chandni

[ Level-2 /1202 ]

133.

134.

135.

136.

What is 'Lingua Franca'?

1) Language used by people
who live in France.

2) The shared language of
communication used Dby
people belonging to different
languages.

3) Language of Western Science
and Arts.

4) Language of Science and
Technology.

'A Period Plan' is also known
as ...ueuns .

1) Unit Plan
2) Year Plan
3) Lesson Plan

4) Daily Plan

Who wrote the Lucy Poems ?
1) William Shakespeare

2) William Wordsworth

3) Douglas James

4) Gieve Patel

What is the moral of the poem
'Dad and the Cat and the Tree'?

1) Be kind to everyone
2) Don't be over-confident
3) Save Trees

4) Respect Elders



1317.

138.

139.

140.

What is the poem 'Chivvy' about ?
1) The journey of an old man

2) Paradoxical attitude of
parents and elders

3) Power of love
4) Mortality of mankind

Who among the following is the
Irish National poet ?

1) William Butler Yeats
2) Robert Frost

3) Walt Whitman

4) Rudyard Kipling

Select the most appropriate
meaning of the given idiom :

"T'o bury the hatchet."

1) To hide something

2) To talk about unimportant
thing

3) Come to peaceful terms

4) To wunderstand more than
actual

Select the option that expresses
the given sentence in reported
speech :

Rita said,
princess."

1) Rita said that she wished she
were a princess.

2) Rita said that she wished I
were a princess.

3) Rita said that I wished she
were a princess.

4) Rita said that she wished she
is a princess.

". wish I were a

[ Level-2/1202 ]

141.

142.

143.

144.

[29/A]

Fill in the blank with correct
modal auxiliary :

All men.......... die. (certainty)
1) can

2) must

3) should

4) usedto

Which of the following is not
included in non-fiction writing ?

1) Autobiographies
2) Diary

3) Bio-graphies

4) Short-Stories

Fill in the blank with the correct
conjunction.

......... doing the cooking I look
after the garden.

1) Besides
2) Still

3) Though
4) If

What was the unusual thing about
Hafeez in the story 'The Treasure
Within' ?

1) Making Predictions

2) Having a
memory

photo-graphic

3) Coining stories

4) Foresightedness

P.T.O.
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145.

146.

141.

What name did Anne Frank give

to her diary ?

1) Kitty

2) Memories

3) Reminiscence

4) Salima

Identify the author of the story

'Princess September' :

1) Hector Hugh Munro

2) William Somerset Maugham
3) Ahmad Nadeem Qasmi

4) Stephanie Parker

The poem 'A House, A Home' is

penned by :

1) Lorraine M. Walli
2) Harry Behn

3) E-Yeh-Shure

4) Peter Dixon

148. What is

149.

150.

the general aim of

teaching English ?

1) To enable the learners to
know the cultural groups of
the world.

2) To open the treasure of rich
English literature for all.

3) To inculcate the integrative
quality of English language.

4) To make the learner an

effective user of English

language.

From which collection the story
'The Three OQuestions' by Leo
Tolstoy is taken ?

1) The Paper Menagerie

2) What Men Live By, and Other
Tales.

3) ATlight of Pigeons

4) Angry River

Choose the pen-name by which
William Sydney Porter is better

known :

1) Saki

2) O. Henry

3) O. Neil

4) Robert Galbraith

[ Level-2 /1202 ]



% %@ % fT [FOR ROUGH WORK]




6.

s B JN, I G=h ¥ fraig =t # & 9| qrEe WA 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

% B Fl??—gﬁﬂ?ﬂ 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk B AT IR SAMGESH Sk H I q&a of 90 o1 (Fhe W) & TanT Mg 21/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TR% e & fow Ru e R fReed § & o fae 3 T OMR ST W% W 399 T 99 & & [0 T FM a6 @Re W W
Th d I T B B 9B IY To Tef o Gl 21 / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 S T B AeT 7 I Ud 39 W FE I M T ) ot ot i St W § feEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

I-RTH T I T B ANEE T H, Fie el 9 oRRefy § [eT-gRae 08 St T & i 5 e @ R &
@E’Fb_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T U L] Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W o § Ru U wHie @ ot @t alie @ xR e § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle A /A HaY W o) UEEM U & SiiRed R SR @ ureg-arh, a1 ST FIST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHT AT FhE ST TR & G B S A7 SUIRT B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S WX TA% ARt oo 5ae HE A o] 8 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

&% ordfes @1 wdwe @ 9w aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR B A ol wfen & e 818 AR fed et A
A R SRR A W EWRR Te Y q a8 qA SO % I IO T AE dern & X Fe o | H A qE S
OMR T T% 7 FHiRg @M R ¥t 7wl art a1 e & ofS &1 MM @ oI 81 oS & Femey I & &6 919 &
& @l WY @ 98 A & & &g oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

s@a@“rﬁm/mﬁa UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SEREl % _fw, orell R & & T sien/Rer-FRw @ 98 & i et @ B @ R am w0 ol aee &
ol A # e 9 3 Fem o e @ FER 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Ebllg AT ST T & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

TOE T BN W, ol e /AT Bie ¥ Jd IR U he-TdaEd A ofasd A 31 oned o | 39 Us-gRaE @ & o we
g /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.



	1202-A.pdf
	ROUGH WORK-2.pdf
	1202-A_1-30.pdf
	1202-A_31-45.pdf
	1202-A_46-60.pdf
	1202-A_61-90.pdf
	1202-A_91-150.pdf
	ROUGH WORK-1.pdf
	BACK_COVER.pdf

